

			Vendor	Ranking				Page 1 of
Letting:	03220210	February 10, 2022 02:0	0 PM Call Order	: 002		Contract:	E3V56	
District:	District 3		Counties:	ESCAM	IBIA	Fed Aid No	: N/A	
Contract Time:	90 AVAILAB	LE DAYS				Project(s):	44986515201	(*)
Contract Desc:	INTERSECT	ION IMPROVEMENT						
Rank		Vendor	Bi	d Type	Bid Status	٦	Fotal Bid	Percent Of Low Bid
1 C.W. ROB	ERTS CONTR	RACTING, INC.	Res	sponsive	Winning bid		\$794,853.67	100.00%
2 CHAVERS	CONSTRUC	TION INC	Res	sponsive	Non-Winning Bid		\$878,187.10	110.48%
3 PANHANE	DLE GRADING	& PAVING, INC.	Res	sponsive	Non-Winning Bid	:	\$1,025,555.11	129.02%
4 ROADS, IN	NC. OF NWF		Res	sponsive	Non-Winning Bid	:	\$1,190,742.33	149.81%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



### **Tabulation of Bids**

Page 1 of 12

Letting:	03220210	February 10, 2022	Call Order:	002	Contract: E3V56
District:	District 3		Counties:	ESCAMBIA	Fed Aid No: N/A
Contract Time:	90 AVAILABL	E DAYS			Project(s): 44986515201 (*)

Contract Descr: INTERSECTION IMPROVEMENT

The Improvements under this District Contract consist of SR 292 Sorrento Rd at Nighthawk Lane Intersection Improvement in Escambia County from MP 10.004 to MP 10.262. The project will include widening to add a new eastbound left turn lane as well as milling and resurfacing, driveways, shoulder grading, side drain pipe, and signing and pavement markings.

#### PRE-QUALIFICATION IS REQUIRED TO BID ON THIS PROJECT

Line No / Item ID Alternate Item Description	Quantity Units	(1) C.W. R CONTRACI		(2) CHAVERS CO			LE GRADING & IG, INC.
( ) indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Ro	badway						
0005 0101 1 MOBILIZATION 44986515201	(1.000) LS	110,000.00000	110,000.00	96,000.00000	96,000.00	105,000.00000	105,000.00
0010 0102 1 MAINTENANCE OF TRAFFIC 44986515201	(90.000) DA (LS)	75,000.00000	75,000.00	52,000.00000	52,000.00	90,000.00000	90,000.00
0015 0102 60 WORK ZONE SIGN	1,260.000 ED	0.50000	630.00	0.53000	667.80	0.40000	504.00
0020 0102 74 1 CHANNELIZING DEVICE- TYPES I, II, D VP, DRUM, OR LCD	6,255.000 DI, ED	0.25000	1,563.75	0.42000	2,627.10	0.15000	938.25
0025 0102 78 1 TEMPORARY RAISED/RETROREFLECTIVE PAVEMENT MARKER, TYPE D	929.000 EA	4.25000	3,948.25	4.50000	4,180.50	3.85000	3,576.65
0030 0102 99 PORTABLE CHANGEABLE MESSAGE SIGN, TEMPORARY	208.000 ED	15.00000	3,120.00	21.89000	4,553.12	13.20000	2,745.60



Page 2 of 12

Letting:	03220210	February 10, 2	022 <b>Ca</b> l	II Order: 002		Contract:	E3V56	
Line No / Item Item Descript		e Quantity Units	(1) C.W. R CONTRAC		(2) CHAVERS C IN			LE GRADING & G, INC.
	is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	DN: 0001	Roadway						
0035 0102913 REMOVABLE TA	21 PE, WHITE, SOLID	0.730 6" GM	9,500.00000	6,935.00	10,100.00000	7,373.00	8,800.00000	6,424.00
0040 0102913 REMOVABLE TA	31 PE, YELLOW, SOL	1.460 ID, 6" GM	9,500.00000	13,870.00	10,100.00000	14,746.00	8,800.00000	12,848.00
0045 0104 10 SEDIMENT BARF		2,646.000 LF	5.90000	15,611.40	4.10000	10,848.60	3.50000	9,261.00
0050 0110 1 CLEARING & GR	1 UBB <b>I</b> NG 44986515	(1.370) 201 AC (LS)	50,000.00000	50,000.00	24,112.00000	24,112.00	48,034.00000	48,034.00
0055 0110 4 REMOVAL OF EX	10 (ISTING CONCRET	346.000 FE SY	20.00000	6,920.00	36.00000	12,456.00	28.00000	9,688.00
0060 0110 7 MAILBOX, F&I SI		2.000 EA	220.00000	440.00	350.00000	700.00	250.00000	500.00
0065 0120 1 REGULAR EXCA	VATION	697.100 CY	47.75000	33,286.53	51.80000	36,109.78	38.80000	27,047.48
0070 0120 2 BORROW EXCA MEASURE		912.900 CY	12.00000	10,954.80	23.00000	20,996.70	43.50000	39,711.15
0075 0160 4 TYPE B STABILIZ	ZATION	3,942.000 SY	18.25000	71,941.50	11.25000	44,347.50	32.00000	126,144.00



Page 3 of 12

Letting:	03220210	February 10, 20	022 <b>C</b> al	l Order: 002		Contract:	E3V56	
	o / Item ID Alternation	e Quantity Units	(1) C.W. R CONTRAC		(2) CHAVERS CO IN			LE GRADING & G, INC.
( ) indica	tes item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
S	SECTION: 0001	Roadway						
	285701 . BASE, BASE GROUP 01	1,569.000 SY	27.75000	43,539.75	24.54000	38,503.26	55.00000	86,295.00
	285706 - BASE, BASE GROUP 06	1,717.000 S SY	37.75000	64,816.75	75.00000	128,775.00	55.00000	94,435.00
MILLING E	327 70 12 XISTING ASPHALT T, 1 1/4" AVG DEPTH	3,520.000 SY	4.20000	14,784.00	8.50000	29,920.00	7.10000	24,992.00
	334 1 52 VE ASPHALTIC CONCRE 3, PG76-22	178.100 ETE, TN	200.00000	35,620.00	280.00000	49,868.00	185.00000	32,948.50
ASPHALT	337 7 80 CONCRETE FRICTION IRAFFIC B, FC-9.5, PG 76	467.900 TN 6-22	188.00000	87,965.20	290.00000	135,691.00	215.00000	100,598.50
PIPE CUL\	430174218 /ERT, OPTIONAL MATEF IAPE - ELLIP/ARCH, 18"S		129.00000	3,096.00	125.00000	3,000.00	312.00000	7,488.00
PIPE CUL	430174224 /ERT, OPTIONAL MATEF IAPE - ELLIP/ARCH, 24"S		154.00000	10,626.00	125.00000	8,625.00	365.00000	25,185.00
	430175130 /ERT, OPT MATERIAL, 0"S/CD	14.000 LF	501.00000	7,014.00	200.00000	2,800.00	685.00000	9,590.00
STRAIGHT	430530210 CONCRETE ENDWALLS 15 DEGREES, ROUND	1.000 S, 30", EA	20,000.00000	20,000.00	24,724.00000	24,724.00	23,560.00000	23,560.00



Tabulation of Bids

Page 4 of 12

Letting:	03220210	February 10, 20	)22 <b>Ca</b> l	ll Order: 002		Contract:	E3V56	
Line No / Ite Item Descri		e Quantity Units	(1) C.W. R CONTRAC		(2) CHAVERS C IN			LE GRADING & G, INC.
() indicates it	em is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001	Roadway						
	984625 SECT, OPTIONAL - NRCH, 18" SD	2.000 EA	2,600.00000	5,200.00	2,500.00000	5,000.00	2,880.00000	5,760.00
MITERED END	84638 SECT, LIP/ARCH, 36" SD	2.000 EA	3,900.00000	7,800.00	4,500.00000	9,000.00	8,200.00000	16,400.00
0135 0522 CONCRETE SI DRIVEWAYS, (	DEWALK AND	234.000 SY	123.00000	28,782.00	75.00000	17,550.00	185.00000	43,290.00
0140 0570 PERFORMANC	. –	3,204.000 SY	2.75000	8,811.00	8.75000	28,035.00	6.50000	20,826.00
	11101 EMENT MARKINGS, /HITE, SOLID, 6"	0.312 GM	1,100.00000	343.20	2,100.00000	655.20	1,000.00000	312.00
	11201 EMENT MARKINGS, ELLOW, SOLID, 6"	0.625 GM	1,100.00000	687.50	2,100.00000	1,312.50	1,000.00000	625.00
0155 0999 INITIAL CONTI NOT BID 4498	NGENCY AMOUNT,	(1.000) DO LS	40,471.04000	40,471.04	40,471.04000	40,471.04	40,471.04000	40,471.04
	0001 Roadway S	Section Totals:		\$783,777.67		\$855,648.10		\$1,015,198.17



Tabulation of Bids

Page 5 of 12

Letting:	03220210	February 10, 2	022 <b>Ca</b>	ll Order: 002		Contract:	E3V56	
Line No / Iter Item Descrip		te Quantity Units	(1) C.W. R CONTRAC		(2) CHAVERS C IN			E GRADING & G, INC.
( ) indicates iter	n is bid as Lump Sum	1	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECT	ON: 0002	Signing						
0160 0700 1 SINGLE POST S	50 IGN, RELOCATE	2.000 AS	119.00000	238.00	350.00000	700.00	110.00000	220.00
0165 0706 1 RAISED PAVEM	3 ENT MARKER, TYI	132.000 PE B EA	4.25000	561.00	4.50000	594.00	3.85000	508.20
0170 0710 90 PAINTED PAVE SURFACE 44980	IENT MARKINGS,	(1.000) FINAL LS	2,300.00000	2,300.00	12,500.00000	12,500.00	2,177.34000	2,177.34
0175 0711 1 <sup>.</sup> THERMOPLAST ARROW	170 C, STANDARD, W	3.000 HITE, EA	83.00000	249.00	95.00000	285.00	77.00000	231.00
0180 0711 1 <sup>.</sup> THERMOPLAST YELLOW, SOLIE OR CHEVRON		204.000 LF JAL	5.95000	1,213.80	7.50000	1,530.00	5.50000	1,122.00
0185 0711 10 THERMOPLAST SURFACES, WH	C, STANDARD-OT	0.554 THER GM	4,700.00000	2,603.80	5,000.00000	2,770.00	4,400.00000	2,437.60
0190 0711 10 THERMOPLAST SURFACES, YE	C, STANDARD-OT	0.832 THER GM	4,700.00000	3,910.40	5,000.00000	4,160.00	4,400.00000	3,660.80
	0002 Signing	Section Totals:	•	\$11,076 <b>.</b> 00		\$22,539.00		\$10,356.94



Page 6 of 12

Letting: 03220210 February 10, 2		022 <b>C</b> a	all Order: 002	Contract: E3V56			
Line No / Item ID Alternate Quantity Item Description Units		(1) C.W. ROBERTS CONTRACTING, INC.		(2) CHAVERS CONSTRUCTION INC		(3) PANHANDLE GRADING & PAVING, INC.	
() indicates item is bid as Lump Sum		Unit Price Ext Amount		Unit Price	Ext Amount	Unit Price	Ext Amount
Contract Grand Totals:			\$794,853.67		\$878,187.10		1,025,555.11



# Tabulation of Bids

Page 7 of 12

Letting: 03220210 Feb	oruary 10, 20	022 <b>Ca</b> l	l Order: 002		Contract:	E3V56	
Line No / Item ID Alternate Item Description	Quantity Units	(4) ROADS, II	IC. OF NWF				
( ) indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Ro	adway						
0005 0101 1 MOBILIZATION 44986515201	(1.000) LS	169,881.74000	169,881.74				
0010 0102 1 MAINTENANCE OF TRAFFIC 44986515201	(90.000) DA (LS)	120,581.89000	120,581.89				
0015 0102 60 WORK ZONE SIGN	1,260.000 ED	0.52000	655.20				
0020 0102 74 1 CHANNELIZING DEVICE- TYPES I, II, D VP, DRUM, OR LCD	6,255.000 I, ED	0.15000	938.25				
0025 0102 78 1 TEMPORARY RAISED/RETROREFLECTIVE PAVEMENT MARKER, TYPE D	929.000 EA	5.17000	4,802.93				
0030 0102 99 PORTABLE CHANGEABLE MESSAGE SIGN, TEMPORARY	208.000 ED	17.71000	3,683.68				
0035 0102913 21 REMOVABLE TAPE, WHITE, SOLID 6"	0.730 GM	11,807.57000	8,619.53				
0040 0102913 31 REMOVABLE TAPE, YELLOW, SOLID, 6	1.460 6" GM	11,807.57000	17,239.05				



Page 8 of 12

Letting: 0322	0210 Fe	bruary 10, 20	)22 <b>Ca</b> l	l Order: 002		Contract:	E3V56	
Line No / Item ID Item Description	Alternate	Quantity Units	(4) ROADS, IN	IC. OF NWF				
() indicates item is bid as	Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 00	01 Ro	badway		1		1		
0045 0104 10 3 SEDIMENT BARRIER		2,646.000 LF	1.99000	5,265.54				
0050 0110 1 1 CLEARING & GRUBBING	44986515201	(1.370) AC (LS)	157,733.55000	157,733.55				
0055 0110 4 10 REMOVAL OF EXISTING	CONCRETE	346.000 SY	26.00000	8,996.00				
0060 0110 7 1 MAILBOX, F&I SINGLE		2.000 EA	273.05000	546.10				
0065 0120 1 REGULAR EXCAVATION		697.100 CY	40.45000	28,197.70				
0070 0120 2 2 BORROW EXCAVATION, MEASURE	TRUCK	912.900 CY	45.95000	41,947.76				
0075 0160 4 TYPE B STABILIZATION		3,942.000 SY	25.33000	99,850.86				
0080 0285701 OPTIONAL BASE, BASE (	GROUP 01	1,569.000 SY	52.36000	82,152.84				
0085 0285706 OPTIONAL BASE, BASE (	GROUP 06	1,717.000 SY	68.25000	117,185.25				



Page 9 of 12

Letting: 03220210 Fe	bruary 10, 20	022 <b>Cal</b>	l Order: 002		Contract:	E3V56	
Line No / Item ID Alternate Item Description	Quantity Units	(4) ROADS, IN	IC. OF NWF				
( ) indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 R	oadway						
0090 0327 70 12 MILLING EXISTING ASPHALT PAVEMENT, 1 1/4" AVG DEPTH	3,520.000 SY	6.08000	21,401.60				
0095 0334 1 52 SUPERPAVE ASPHALTIC CONCRETE TRAFFIC B, PG76-22	178.100 , TN	198.25000	35,308.33				
0100 0337 7 80 ASPHALT CONCRETE FRICTION COURSE,TRAFFIC B, FC-9.5, PG 76-22	467.900 TN 2	202.15000	94,585.99				
0105 0430174218 PIPE CULVERT, OPTIONAL MATERIAL OTHER SHAPE - ELLIP/ARCH, 18"SD	24.000 _, LF	197.07000	4,729.68				
0110 0430174224 PIPE CULVERT, OPTIONAL MATERIAI OTHER SHAPE - ELLIP/ARCH, 24"SD	69.000 _, LF	202.64000	13,982.16				
0115 0430175130 PIPE CULVERT, OPT MATERIAL, ROUND, 30"S/CD	14.000 LF	1,925.99000	26,963.86				
0120 0430530210 STRAIGHT CONCRETE ENDWALLS, 3 DOUBLE, 15 DEGREES, ROUND	1.000 0", EA	8,769.40000	8,769.40				
0125 0430984625 MITERED END SECT, OPTIONAL - ELLIPTICAL / ARCH, 18" SD	2.000 EA	4,632.68000	9,265.36				
0130 0430984638 MITERED END SECT, OPTIONAL /ELLIP/ARCH, 36" SD	2.000 EA	7,758.05000	15,516.10				



Page 10 of 12

Letting: 03220210 Fe	bruary 10, 2(	022 <b>Ca</b> l	l Order: 002		Contract:	E3V56	
Line No / Item ID Alternate Item Description	Quantity Units	(4) ROADS, II	NC. OF NWF				
( ) indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 R	oadway						
0135 0522 2 CONCRETE SIDEWALK AND DRIVEWAYS, 6" THICK	234.000 SY	107.74000	25,211.16				
0140 0570 1 2 PERFORMANCE TURF, SOD	3,204.000 SY	3.47000	11,117.88				
0145 0710 11101 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID, 6"	0.312 GM	1,328.35000	414.45				
0150 0710 11201 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SOLID, 6"	0.625 GM	1,328.35000	830.22				
0155 0999 25 INITIAL CONTINGENCY AMOUNT, DO NOT BID 44986515201	(1.000) LS	40,471.04000	40,471.04				
0001 Roadway Sect	tion Totals:		\$1,176,845.10		I		

	SECTION: 00	02 Sig	Ining		
0160	0700 1 50		2.000	147.60000	295.20
SINGL	E POST SIGN, REL	OCATE	AS		
0165	0706 1 3		132.000	5.17000	682.44
RAISE	D PAVEMENT MAR	RKER, TYPE B	EA		



Page 11 of 12

Letting: 03220210 Feb	ruary 10, 2	022 <b>Ca</b> l	I Order: 002		Contract:	E3V56	
Line No / Item ID Alternate Item Description	Quantity Units	(4) ROADS, INC. OF NWF					
( ) indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002 Sig	ning						
0170 0710 90 PAINTED PAVEMENT MARKINGS, FINA SURFACE 44986515201	(1.000) L LS	2,921.49000	2,921.49				
0175 0711 11170 THERMOPLASTIC, STANDARD, WHITE, ARROW	3.000 EA	103.31000	309.93				
0180 0711 11224 THERMOPLASTIC, STANDARD, YELLOW, SOLID, 18" FOR DIAGONAL OR CHEVRON	204.000 LF	7.38000	1,505.52				
0185 0711 16101 THERMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SOLID, 6"	0.554 GM	5,903.79000	3,270.70				
0190 0711 16201 THERMOPLASTIC, STANDARD-OTHER SURFACES, YELLOW, SOLID, 6"	0.832 GM	5,903.79000	4,911.95				
0002 Signing Section	on Totals:		\$13,897.23		I		

**Contract Grand Totals:** 

\$1,190,742.33



# Tabulation of Bids

Page 12 of 12

Letting:	03220210	February 10, 2022	Call Order: 002	Contract:	E3V56
		120.57(3), Florida required by law wi	file a protest within the time µ Statutes, or failure to post th ithin the time allowed for filin edings under chapter 120, Fl	he bond or other security g a bond shall constitute	
		NOTICE OF INTEN UPON BUDGET AV	IT TO AWARD: AWARD AND E /AILABILITY	EXECUTION CONTINGENT	